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DEFENCE & STRATEGIC STUDIES
PAPER - 11

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Who among the following thinkers
emphasized that like science, there
are systematized principles of war ?

(A) A.Jomini

(B) Carl Von Clausewitz
(C) Marshal Foch

(D) Marshal Bulow

The ‘global climate change’ has
emerged as one of the causes of
insecurity. This change is because

(A) Discovery of a hole in Earth’s
ozone layer over Antarctica in 1985.

(B) 25% increase of carbon dioxide
in atmosphere.

(C) Increase in temperature of
Earth surface.

(D) Melting of Glaciers

The disciple of defence economics
mostly concentrates on :

(A) Pre-war economy

(B) Mobilization  of  military
resources

(C) Planning, Programming &
Budgeting of resources for
defence requirements

(D) Allocation of natural resources

In Game theory, as applied in war
games, ‘Zero-sum’ concept refers to
one of the following :

(A) Equality of Gains and Losses
(B) Inequality of Gains and Losses
(C) Partial equality between the two
(D) Partial inequality between the two
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The concept of ‘Threats without
enemies’ is linked with one of the
following in the security discourse :

(A) Globalization

(B) Environmental security
(C) Technology transfer
(D) Mllegal migration

Which of the following have largely
been causes of illegal migration and
flow of refugees ?

(A) Government policies forced
people to migrate.

(B) Establishment of new States
and adverse gconomic
conditions.

(C) Disasters induced people to
migrate.

(D) AIll the above factors as
mentioned in (A), (B) and (C)

The UN World Conference on Human
Rights in June 1993 was held in :

(A) Geneva
(B) Vienna
(C) London
(D) Paris

Which of the following African
States opposed the indefinite
extension of the Nuclear Non-
Proliferation Treaty in 1995 ?

(A) Nigeria
(B) Sierra Leone
(C) South Africa
(D) Tunisia
D-11-13
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10.

11.

12.

13.

14.

Which one of the following was the
main factor that conditioned India’s
Defence Policy in 1947 ?

(A) Military Cooperation
(B) International Image
(C) Non Alignment

(D) Regional Conditions

Mahakali Treaty between India and
Nepal was signed in the year

(A) 1996 (B) 1999
(C) 1998 (D) 1950

Which among the following is considered
as the master principle of war ?

(A) Offensive Action
(B) Cooperation

(C) Selection and Maintenance of
the Aim

(D) Concentration of Force

Which one of the following countries
does not have strategic partnership
with India ?

(A) Russia (B) Bangladesh
(C) USA (D) Japan

‘Battle of Midway’ was fought
during the World War Il between the
following countries :

(A) Britain — France
(B) USA -Japan

(C) Russia— Germany
(D) Germany - France

Which of the following is not an
Arms Control Treaty ?

(A) CFE Treaty
(B) NAFTA

(C) ABM Treaty
(D) INF Treaty
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15.

16.

17.

18.

19.

20.

The term “Strategy’ is derived from
which of the following words ?

(A) Stratoso (B) Strategos
(C) Stratologas (D) Stratotos

Which one of the following is not
included in the determinants of
National Power ?

(A) Scientific and Technological

Capability

(B) Civil Society

(C) Economic Strength

(D) National Will

‘Brahmos’ missile is a product of
Joint Defence Cooperation between
the following countries :

(A) India - Israel
(B) India - Russia
(C) India - France
(D) India - Germany

The highest peacetime honour
accorded to a soldier in India is one
of the following :

(A) Param Vishistha Seva Medal
(B) Ashok Chakra

(C) Ati Vishistha Seva Medal
(D) Shaurya Chakra

Cyber security threat is an important
component of the one of the
following :

(A) Psychological warfare
(B) Chemical warfare

(C) Information warfare
(D) Nuclear warfare

In  Clausewitz’s formulation, the
ultimate objective of a nation-state
could be achieved by means of :

(A) Political Pressure
(B) Coercive Force

(C) Moral Force

(D) Economic Coercion
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(D) oTf&eh TaTe FRT
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21.

22.

23.

24,

25.

India and France signed Strategic
Partnership in which year ?

(A) 1998 (B) 2000

(C) 2011 (D) 2013

Who among the following thinkers,
compared the internal threat as
‘lurking hood of a snake’ ?

(A) Kautilya

(B) G. Douhet

(C) Carl Von Clausewitz

(D) H. Mackinder

Who among the following argued
that “India and Pakistan have brought
the confidence building measures to
a demeaning status ........ 79

(A) Rajiv Gandhi

(B) Atal Bihari Bajpayee

(C) Parvez Musarruf

(D) Michael Krepon

The problem of fundamentalism and

extremism in South Asia could be

tackled only when

(A) Taliban fails to succeed in
getting power back in Kabul.

(B) Financial and military aid to

Pakistan by USA is accounted far.
(C) Regional organization

implement their commitments.
(D) Policies of counter-terrorism in

South Asia are harmonized.

The coast guards and navies of the
littoral countries in the South Asian
region need to gear up their efforts to
prevent the Indian Ocean from being
treated as “dumping ground” due to
the following threats :

(A) Oil spill disasters in the coastal
Zones.

(B) Sea pollution caused by coral
dead zone and increasing
pollutants.

(C) Global warming causing severe
damage to sensitive marine
eco-system and its bio-
diversity.

(D) All of the above mentioned in
(A), (B) and (C).
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26.

217.

28.

29.

30.

Which of the following is a part of
physical mobilization ?

(A) Increase in the working hours
(B) Additional Employment

(C) Moral Mobilisation

(D) Curtailing Vacation time

Which one of the following is the
country of origin of “Phalcon -
Radar” ?

(A) Israel
(B) Germany
(C) USA
(D) India

Who said, “Victorious warriors win
first and then go to war, while
defeated warriors go to war first and
then seek to win.” ?

(A) Liddell Hart
(B) Mao Tse Tung
(C) Kautilya

(D) SanTzu

Who among the following argued
that “in a war of revolutionary
character, guerrilla operations are a
necessary part.” ?

(A) A.H. Nasution

(B) V.l Lenin

(C©) Mao Tse Tung

(D) Regis Debray

India’s  Nuclear Doctrine  was
announced in the year :

(A) 1999

(B) 1974

(C) 2000

(D) 1971
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31.

32.

33.

34.

35.

‘Muslim Brotherhood” as a political
party belongs to which of the
following countries ?

(A) Iran (B) Syria

(C) Egypt (D) Pakistan

13™ Amendment in Constitution is a
matter of concern between :

(A) India - Pakistan

(B) Bhutan — Nepal

(C) SriLanka - India

(D) India - China

“Senkaku island” is a disputed
territory between which of the
following ?

(A) China - South Korea

(B) Japan - China

(C) Malaysia — Singapore

(D) Taiwan — China

The Code name given to India’s first

nuclear explosion at Pokhran was :

(A) Lotus Smile (B) Desert Smile
(C) Buddha Smile (D) Flower Smile

The promotion of human rights, as

enunciated under the UN Declaration

of Human Rights, in the post-cold

war situations and globalizing world

could be realized, provided :

(A) There is re-distribution of power
based on universal values of
freedom, justice, peace and order.

(B) Economic and financial
reforms in the world economy
and conflict resolution and
transformation on just grounds.

(C) Public-Private Partnership

(PPP) for sustained
development and flow of
money, manpower and

technology transfer to insure
human security in terms of
“freedom from fear” and
“freedom from want”.

(D) All of the above factors given
in (A), (B) and (C)
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36.

37.

38.

39.

40.

In which year the Money Laundering
Control Act in India was implemented ?

(A) 1985
(B) 1984
(C) 1986
(D) 1987

The origin of modern nation-state
system is associated with one of the
following events:

(A) Congress of Vienna
(B) Treaty of Utrecht
(C) Treaty of Westphalia
(D) World War |

Which one of the following is not the
disputed area between India and
China ?

(A) Aksaichin area
(B) Arunachal Pradesh
(C) SirCreek

(D) Noticed oil and gas exploration
area in the South China Sea

Which one of the following US
Administrations stressed that
“Without question Chechnya is part
of the Russian Federation” ?

(A) Obama Administration
(B) Clinton Administration
(C) Bush Administration
(D) Carter Administration

H.Q. of International Atomic Energy
Agency is located at

(A) Cairo

(B) New York
(C) Vienna
(D) Geneva
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41.

42.

Choose the appropriate code for the
Assertion (A) and Reason (R) as
given below :

Assertion (A) : IPKF failed to keep
its mandate in Sri Lanka
because a large number of the
freedom fighters had been
trained in India.

Reason (R) : The LTTE enjoyed
the support of the locals.

Codes :

(A) Both (A) and (R) are true.
(B) (A)is false, but (R) is true.
(C) Both (A) and (R) are false.

(D) (R) is not the correct
explanation of (A).

Match  the following  military
operations (Table — 1) with the year
of their occurrence (Table — II). Use
the codes given below :

Table -1 Table — 11
(Operations) (Year)
a. Goa operations i. 1999
b. Maldives ii. 1961
operations
c. Bangladesh ii. 1971
operations

d. Kargil operations iv. 1988
Codes :

a b c d
(A) iv i i i
(B) Qi iv i i
© i iiive i
(D) i i i v
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43. Match the following leaders in List — |
with their respective country in List — I
and choose the correct code :

List— 1 List— 11
a. Abdul Jamal i. Sri Lanka
Nasser

b. Col. M. Gaddafi ii. Egypt
c. Sheikh Mujibur iii. Libya

Rahman

d. Srimavo iv. Bangladesh
Bhandaranaike

Codes :
a b c d

(A) i i iv i

(B) i i Y

© iv i i i

D) i ivii i

44. Arrange the following events in the
correct chronological order as they
occurred. Use the code given below :

(A) Arab  Spring, Fukushima
Nuclear Disaster, Chinese
intrusion in India’s DBO
sector, Yom Kippur War.

(B) Yom Kippur War, Arab Spring,
Fukushima Nuclear Disaster,
Chinese intrusion in India’s
DBO sector.

(C) Yom Kippur War, Fukushima
Nuclear Disaster, Arab Spring,
Chinese intrusion in India’s
DBO sector.

(D) Chinese intrusion in India’s
DBO sector, Yom Kippur War,
Fukushima Nuclear Disaster,
Arab Spring.
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TTSTeTOT IT o |

& (R)
AMTERT T THAT YT o |

AT H EWEHE

(A) &R (R) T W € |
(A) T & R (R) Rl & |
(A) 3R (R) THI TeTd & |
(A) &1 (R) &t =R &1 & |

42, g - | (@ FRAE) H gEr - |
@RS fHF W w1 ad) F gAfed
T

=it - | =t - 1
(HNTE) @
a. Tl HRATE (JAMRIE) i, 1999
b. HARE HNATS ii. 1961
C. SCIRIT HNATE iii. 1971
d. FRATS FRaE iv. 1988
T
a b ¢ d
A ivoodi i i
B) i ivoodin i
(3 I T 1T I \ VAR |
(D) i i i \Y;
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43.

44,

T — | () BT — 11 (<2M) § Gt
I :

o=t - | = -
A FTgel SRS AR Q. s
b. FOLUA. W i, =
c. @ ANR wWAA i, iR
d. et SeRAEE  jv.  SeRe
L T4

a b c d
(A) i i iv
B) i i i v
©) iv i i i
o) i v i il

frafafed geAteti & FeRANER
AT %1 Wl e I FHT :

(A)

(B)

(©)

(D)

R fom, weRmr Ay
JATIET, YR o Sf & 37 &5 § =+
T SATTHAT, AT TR J5

AMIHT 3T, YR & SF o o

& | = T HATqshAT

I PR Tg, FERET AR
3MIRT, RS FOAT, R & S of o7

& | = T HATqshAT
TR & S of 3 &% ° T A

ATAHATT, AW HUR Tg, FHT
MR 3T, 3R o
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45.

46.

Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : The adverse impacts
of climate change have been
noticed on agriculture and food
sector, water resources, forests
and  bio-diversity, health,
tourism and infrastructures.

Reason (R) : Climate-induced
disasters and other effects have
caused damages and losses to
life, property and livelihood.

Codes :

(A) Both (A) and (R) are correct,
but (R) is not the full
interpretation of (A).

(B) Both (A) and (R) are not

correct.

(C) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.

Match the following authors (Table — 1)
with their respective books (Table — I1).
Use the codes given below :

Table -1 Table - 11
(Author) (Books)
a. H.J. i. Revolution in
Mackinder the Revolution
b. Regis ii. Guerilla
Debray Warfare
c. J.H.Nehru iii. Geographical
Pivot of History
d. Che iv. Discovery  of
Guevara India
Codes :
a b c d
A i i v
B) v i i i
(C) i v ii
() I T T TR VAR
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47.

48.

Identify the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : States are a means to
an end, not an end in
themselves, security theories
clearly need to address a
changing world. This means
admitting the importance of
many non-military  security
issues,  without discarding
military threats.

Reason (R) : This
address the questions of
emerging non-military/non-
traditional security threats with
same seriousness as defence
policy, military strategy, WMD
and so on.

Codes :

(A) Both (A) and (R) are correct,
but (R) is not the adequate
explanation of (A).

(B) Both (A) and (R) are not

leverages to

correct.

(©) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.

A national policy advocating the
capture of some region in another
country on the basis of common
linguistic, cultural, historical, ethnic,
or racial connections is associated
with which one of the following ?

(A) Nationalism

(B) Fundamentalism
(C) Irrdentism

(D) Separatism
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45. T3 T Al (A) 3R 9% (R) & fow

TEl FE T -

Afpem (A) : Sorarg aRadd &
FUITT HT 3T G &5, STeT A,
WA HARX Hond -9 W
TETTE |

& (R) :STtary S STTuRTeR
3R 3= el 3 STe, TRl 3T
SfifereRt Sl B TgaTE § |

®:

(A) (A) IR (R) SHI Wl &, W (A)
1 (R) Tel = el ¢ |

(B) (A) 32X (R) IHi Tera & |
(C) (AT e W (R) T ¢ |
(D) (A) Toid &, W] (R) W& ¢ |

46. gt — | GE - || ¥ GAfId I 3
Tl e BT I BT :
it - | et -
(FTE) (T=6)
a. TAS HETST i, @ERH AT
El N
b. a2 ii.  TRee
TEHI
C. SO ATt H8% iii. SAMTHHA
e 3%
et
d. @ TaR iv. fewpert 3
e
T
a b c d
(A i i i v
(B) v i Qi
€ i v i i
() i Qi v i
D-11-13
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47. e (A) 3R 76 (R) & T @&t %
RS

48.

AR (A) © T T 3299 o e
g oI oMY W SRV TEl, gRET
fogral @ wedr aREdHeter
TR T GTHAT A D STE9IHA
Tgdl & | T A ¥ o e
I 9T H [WHEAR T sga &
NI @I & " B
iR o S |

& (R) | TP HelE®wy A -
YA IR G o Gl o
ST TR T QAT ST TRIRAT &
g fepar ST wehar €, N U
T Afd, ¥ s, aHies
formeT & B ami & WA
fopan ST AT & |

TN

(=N

(A) sH (A) ¥R (R) @& € foeg
(R), (A) st Faiet =amea T8l & |

(B) =i (A) 3R (R) el Tl € |
(C) (A) Tl €, i (R) Wl Tl ¢ |
(D) (A) Wl i &, fh] (R) T & |

T AL A ST 78 Fehrera et & fh
Topl 9T T T &1 ST ATTE, Hih{d,
UfceIiaeh, JoTia STaT Tt & Tr o
TAE B ol W 3T MR W faeg fowan
T HHAT & | 39 A & FEfeEd 0 9
o T Ty € 9

(A) rogars

(B) HEAER

(C) TR TN
(D) 3AeTmEET
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49.

50.

Match the following NAM summits
with the places of their meetings :

List—1 List— 11

a. 2" Summit i. New
(1964) Delhi
b. 4™ Summit (1973) ii. Jakarta

c. 7" Summit (1983) iii. Algiers

d. 10" Summit iv. Cairo
(1992)
Codes :
a b c d
(A) iv i i i
B) iv i i ii
©) i v ii
(D) i i v

Choose the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : Military power is
more than just the aggregation
of personnel, equipment and
weaponary.

Reason (R) : Gulf war high-
lighted that how important is
the power projection and
sustainability in the modern era
for military effectiveness.

Codes :
(A) (A)is false but (R) is true.

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).
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51.

52.

53.

54.

Choose the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : The management of
conflicts in society is one of the
primary and enduring
responsibilities of government.

Reason (R) : Peacekeeping  has
become one of the prominent

strategies for resolving
conflicts among the global
community.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are false.

(C) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(D) (A)is true, but (R) is false.

Arrange the following agreements in
its chronological order as they were
signed. Use the correct code :

(i)  Shimla Agreement

(i)  Panchsheel Agreement

(iii)  Indo-US Nuclear Deal

(iv) Tashkent Agreement

(A) (@), (i), (i), (iv)

(B) (i), (iv), (i), (iv)

(C) (iv), (iii), (i), (i)

(D) (@), (i), (iv), (i)

Who among the following is the
Chairman of N.D.M.A. ?

(A) Environment Minister

(B) Home Minister

(C) Prime Minister

(D) Defence Minister

The term ‘Atom for Peace’ was
coined by :

(A) John F. Kennedy

(B) Joseph Stalin

(C) D. Eisenhower

(D) Mahatma Gandhi
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49.

50.

frfefad A ((NAM) ¥reR Jeerr st
IAH! T AT SRl F W | gRfed
Ealiie
it - |
a. fgam fomew i.
T 1964

b. =qe FrEw .
AT 1973

c. 7dr fPrET
TEAT 1983

d. 10a7 @R
T 1992

ET

a b ¢ d
(A) iv dii i [
B) iv i i i
© i v i
(D) i i v

=t - 11
% fgeet

SR
ii. TersE™

iv. SR

afirser (A) 3T e (R) % forw @@t e
T

afirper (A) - = vifed o, O
G 3Tl I 1 Sg A T
g

& (R) - WTE IF A 98 We foma
% eyt g7 & T wTEsTieran
feam & forr wfed weeM 3
RO TaH € |

(A) (A) Tt €, W (R) Tl ¢ |
(B) (A) 3R (R)IHTWEIT |
(C) (A) R (R) IHI Tod & |

(D) (A) &R (R) 31 el & =] (A)
1 (R) W&t =A@ TEI % |
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51.

52.

53.

54.

e (A) 2R T (R) & T W&l e

T T BT

AHY (A) : TWHER & o0 901 &
TEOT 1 TEE THHT WAHE Td
T I ¢ |

& (R) - g a9 T % fow
Afvers TR & HeSt h e
T VI I & TEE |

&<

(A) (A) 3T (R) 3T W&l € 3T (A)
& (R) W& AT |

(B) (A) 3R (R) I T & |

©) (A) 3R (R)ﬁ@?ﬁ(ﬂ\)
' (R) Tt =A@ FE 7 |

(D) (A) & W (R) T |

frefefad aueidr ®t ST semeid a=
F g H AN T WA g, %
FHAHITIR GARIT FH hl AT -

() oo i

(i)  Oerier FEEiar

(il) WRA-Y TH fFTaR Sfet

(iv) TTeThs A

ETE

(A) (), (iii), (ii), (iv)

(B) (i), (iv), (i), (iv)

(C) (v, (i), (i), ()

(D) (), (i), (iv), (i)

Fefafea & 9 w9 S T T 1 9EET
HE T 2

(A) TATERoT T

(B) e A

(C) e waAt

(D) T HA

T~ & TRET] IS I Fe AT &
(A) ST T, Hee!

(B) SO wifetd

(C) . 3R

(D) T TE
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55.

56.

S57.

Which one of the following elements
does not contribute to the escalation
of defence expenditure ?
(A) Existing military — industrial
complexes
(B) Arms race
(C) Military
programmes
(D) Defence budgeting process

modernization

The process by which conflicts such
as ethnic conflicts are changed into
peaceful outcomes are known as

(A) Conflict Management

(B) Conflict Transformation

(C) Conflict Prevention

(D) Conflict Resolution

Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : Given the global
recession in the world economy
and emerging financial crisis, if
viable steps are not taken to
implement economic reforms,
India will be left with 3D
options debt  default,
devaluation and deflation. In
India, devaluation is happening
and deflation could be about to
start and debt default is highly
unlikely.

Reason (R) : As a result, India
would remain hard pressed to
carry on its  planning,
programming and budgeting
for defence and development in
the long term perspective.

Codes :

(A) Both (A) and (R) are not
correct.

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.
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58.

59.

60.

The satellite GSAT-7 launched by
India will be used for which of the
following purposes ?

(A) Environmental purposes

(B) Military purposes

(C) Communication purposes

(D) Space Exploration purposes

Match the following planes given in
Table-I with their country of origin in
Table-11 from the code given below :

Table-1 Table-11
(Planes) (Country)
a. MIG i. Britain
b. Mirage 2000 ii. USA
c. Hercules iii. France
d. GNAT iv. Russia
Codes :
a b c d
(A) i i iv i
B) i iv i i
C) v i i i
D) i iv i il

Choose the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : Defence diplomacy
serves specific national foreign
and security policy objectives
in varying degrees.

Reason (R) :In the context of
global and regional strategic
engagement, it creates
sustainable cooperative

relationships, thereby building
trust and facilitating conflict
prevention.

Codes :

(A) (A)is true, but (R) is false.

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).
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55.

56.

57.

fr=fefad & & =i a1 o T/ =G o
ghg ot Tal Ferd ?

(A) HISET ¥9-3T=fiTes uie
(B) v

(C) T MYMHIHIT HTshH
(D) T&T-SSIE HishaT

et 1 WHAT TS JeTi SI9 Heot i
Shfagut afcomet o gRafad s S g,

(A) TEY gewe
(B) TEY WUTROT
(C) T =l THam
(D) TEd FHEE

Ao (A) 3R @ (R) & forw @@t

?qﬁ?ﬂ;{f:

afrpem (A) : fava erleEenr #
IYTE T SR WA Tk &
ToTd, afg I Rl Bl AN
FH & [T WF FHIH 7 33 W
@ YRA & 99 a2’ fawe ®
ST, 0T S, SITeI S
Jareid | WRA H aqea of &
W@ &, 2R omEfERld URW &M
AT & S SRUT ST i G
& o5 & & o

a® (R) : T% UROTIEEY, R
T GRI & I ASHI, HRIHH
AR TSI I 3R forepr =i, 3
% qRUeg |, SIRY W& hic &nm |

(A) (A) 3R (R) IHT &l Tel & |

(B) (A) &R (R) FHI Wl & =] (A)
1 (R) Tel = el ¢ |

(C) (A) T g, A (R) T & |
(D) (A) e & W= (R) Wel ¢ |
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58.

59.

60.

IRA N BIET T SWE  SHe-7,
frefafeg & 9, ®F ¥ W&eE & oo
VR B 7

(A) TATEROTH TS

(B) = WS

(C) ¥R WasH

(D) TG’ G TS

gt — | (fomm) i 9=t — Il (3%
STUE T ITM) T AT HINTT

= - | =t - 11

(ferr) (3w
a. & i.
b. TERT 2000 ii.
c. T ii.
d. STHZ (GNAT) iv.
%

a b c d

A Qi i v i
B) iii v Qi i
©€) v Qi Qi i
O) i v Qi i

afirser (A) 3T ek (R) % forw @@t e
I g

Ao (A) 1 1 FeAlfasar o=
et § fafyre wdg fogeh wd
GR&T 32T B IR HA |

& (R) dfvesw W e
TR TEYE H, T8 YR
TRl TRl B ol & ey
Tavarg =1 fuTor g € o gud
&% GEYE | gl gt & |

(A) (A)TEE IR (R) TAT & |

(B) (A) 3R (R) THI @&l & 3X (A)
& (R) W& AT |

(C) (A) 3R (R) I Teta € |

(D) (A) &R (R) I Wl &, W] (A)
F (R) TEl A7 T&l § |
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61.

62.

63.

64.

Match the following peace treaties
that resulted in ending of wars :

List—1 List— 11
a. Peace of i. 30 years War
Hamburg
b. Treaty of ii. World War |
Westaphalia
c. Treaty of iii. Bosnian War
Versailles
d. Dayton iv. Anti-Danish
Agreement War
Codes :
a b c d
(A v i i i
B) v i i il
€ iv i TTRT
D) i i v

Which one of the following is not a
strategic theory related to nuclear
weapons ?

(A) Nuclear Winter

(B) Massive Retaliation

(C) Flexible Response

(D) Attrition

Abbotabad military academy of
Pakistan is located at

(A) Islamabad (B) Lahore
(C) Karachi (D) Dhaka

Choose the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : Guerilla warfare, the
basis of the struggle of people
to redeem itself, has diverse
characteristics, different facets,
even though the essential will
for liberation remains the same.

Reason (R) : In India, Shivaji is
known as the father of Guerilla
warfare.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) Both (A) and (R) are true and (R)
is the correct explanation of (A).
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65.

66.

Choose the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : There is little mis-
match between the
requirements of the Indian
armed forces and the output of

DRDO.

Reason (R) : Perfect matching
between defence requirements
and defence production

depends on the incorporation of
contemporary technologies.

Codes :

(A) Both (A) and (R) are true, but (R)
is the partial explanation of (A).

(B) Both (A) and (R) are not
correct.

(C) (R) isthe proper explanation of (A).

(D) (R) is not the
explanation of (A).

proper

Choose the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : The nation-state
formulates its ‘security
perception’ on the basis of its
geo-strategic  location, its
neighbourhood and its power
potential.

Reason (R) : The common citizen
in India, by enlarge, lack
security awareness because of
lack of security orientation.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the appropriate
explanation of (A).

(B) Both (A) and (R) are not
correct.

(C) (A) is true, but (R) is partially
untrue.

(D) (R) is true, but (A) is partially
incorrect.
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61.

62.

63.

64.

frafafea et |t & 3 39 g1
U g ST Sl GAfeTd T -

=it - | =t - 1
a. BT 9y i.
b. SR 9 .
c. TEEH G iii.
d. ST |EENT v

T

(=N

a b c d
(A) iv i i i
(B) iv i i i
©) iv i i i
(D) i i i v

Afafad o @ AT e 9 T
(A) SRR fqueT

(B) sk HiqEn

(C) oTaeieT ST

(D) Edur

IR ol TRTT T STHIGH (STATTENR)
feme:
(B) <R

(A) z=THER
(C) (D) @

T 53 ™ i (A) R A% (R) &

o Stad e %1 =797 ST

ATHUT (A) : BUMER JFhd, S 30
S FEY YR ST §, SHB
- foeimant 3 sterT '
g, Tafn giem & fow emevas
Teheq T & T |

& (R) CORd § e SmR
JFHH & Sk P ¥ § AGF T |

A

(A) TET (A) R (R) Tl &, Afh
(R), (A) F Tel = &l ¢ |

(B) THI(A) 3R (R) T € |

(C) (A) el ¢ fohe (R) Tordl ¢ |

(D) =Fi (A) 3R (R) @l & «fep
(R), (A) = T =ame T € |
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65. = e (A) dur @& (R) & forw

66.

3fed F2 1 T HIT

AFUH (A) : IRAR TR T i
ITTHATS 2 S, &
IR H HH TA-AA ¢ |

& (R) TR STERIRATS T
T IARA H GO Aot
THFHAN U= & GHEsT I
MR BT & |

HT

¢ .

(A) SHI(A) &R (R) I &, T (R),
(A) o TieTeH AT |

(B) 3 (A) 3 (R) W&l &l ¢ |

©) (R), (A) HI STZH AT |

(D) (R), (A) I SUFFT == Tal & |

=1 stfirrem (A) @ % (R) & ford
3fed e 1 === A
AHET (A) : T TS e,

AT & JMER W AL 379
TR T8 TehIoT B FeRoT el € |

& (R) - G 3%eT & 3 &
FRUT 9RA & R ARG H,
MR, YT SATEHAT T 3T
T

(A) TFI(A) 3R (R) ¥ &, 1 (R),
(A) I ST AT TEl |

(B) =i (A) 3 (R) @&l &l & |

(C) (A) ¥= & < (R) 31ifers
AT |

(D) (R) ¥F & fHq (A) 3fifers
IEAE |
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67. ldentify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : In the realm of arms,
one nation’s common sense
acts as high-blood pressure for
the other. For instance, the US
arms create fear in Russia and
the Russian arms create fear in
the United States. By seeking
to deter each other by military
might, they have inevitably
plunged the world into an arms
race.

Reason (R) : Arms race is not
conducive to peace and
security in a changing global
strategic scenario.

Codes :

(A) Both (A) and (R) are correct, but
(R) is not the comprehensive
explanation of (A).

(B) Both (A) and (R) are not

correct.

(C) (A) is not correct, but (R) is
correct.

(D) (A) is correct, but (R) is not
correct.

68. Match the following revolutionaries
(Table-1) with  their respective
countries (Table-Il) by using the
correct code given below :

Table -1 Table-11
a. Che Guevara i. India
b. Mao-Tse Tung ii. Vietnam
c. Bhagat Singh iii. Argentina
d. Ho Chi Minh iv. China
Codes :

a b c d
(A) i v ii
B) v i i i
(C©) i ivo i i
(D) i ivoi il
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69.

70.

Match the boundary lines given in
List-1 with their related countries
given in List-Il and choose the
appropriate code :

List— 1| List—11
a. Durandline i. India &
Afghanistan
b. Maginot ii. France &
line Germany

c. 49" parallel iii. USA & Canada
d. 38" Parallel iv. Two Koreas

Codes :

a b c d
(A) i i i v
(B) iv i i i
© i iiv i
(D) i v i

Identify the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : There is no victory
in a limited war unless the
objectives are defined in the
opening round of conflict.

Reason (R) :In case of the
nuclear exchange, the dangers
of escalation would not keep
the war limited.

Codes :
(A) Both (A) and (R) are not
correct.

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A) in all cases.

(C) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.
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67. 53 ™ i (A) R A% (R) &

ToTT STFERT T T TEa T :

AfFHYT (A) (ERERT % &F H, TH
[ I ET TEIAT T % fog
I AT H HE HE T |
IR0, HIFT AT SR &
TR TG & T 99 39— A
MR & fow weR € 1 O
qEd F T W TH TE A
TR HH h HAT % SRM,
S 9’ 3T H SEvad w9
T IEAHT Hl gie § e
e e |

& (R) e Cio i (NI RIE Ca
uRged # wifd 3R GRT % forw
IIEHIT i J1S HETTH Tél & |

ETE

(A) THI(A) 3R (R) W & % (R),
(A) Tt T AT TR T |

(B) THI(A) 3T (R) W&l F&T & |

(C) (A) T i ¢, fvg (R) WEI & |

(D) (A) W&l &, g (R) &l T € |

68. Tl — | (HI~IHRY) T gt — |1 (Twifera
M) W FHAT I -
e - | =t - 11
a. I TER i ORd
b. AEE G ii. foem
c. WId & iii. ST
d. e e iv. ==
LT
a b ¢ d
(A) i v I
B) iv il i i
(C) i v i
(D) i v iii
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69.

70.

dfersr — | H oo |\ {@net o
afetss — Il o &2 7 gratud <9 9

Tt e BT UANT I gT GATETT DT

Atfetent — | Attt — 11

a e Q. 9Ra AR
ST

b. AN @ Qi I 3R A

C. 49381 e iii. WY T
3T 31T
TS

d. 3831 R iv. JHAT HIRAT

FT

a b ¢ d

(A i Qi i v

B) iv Qi i i

©) i i v iii

) i v i i

T g2 72 sifiree (A) 3R @ (R) &

o Stad e %1 =g S

aAfpem (A) : 9iftd 35 § da d%

YRR 3T |§ o1ed) o1 YT
TR
a® (R) - AT SEH-IEH i

TIM H, AT & SRGH & HROT
I5 & difd & fwar ST g
g

(A) TH(A) 3T (R) & &l & |

(B) T (A) 3R (R) Wel €, AT Tt
ot # (R), (A) F G =
T |

(C) (A) W&, fvg (R) W&l & ¢ |
(D) (A) Tl i &, fv] (R) Tl & |

Paper-I111



Read the passage below and answer the
following questions that are based on your
understanding of the passage.

Sun Tzu’s goal in writing the “Art of
War” was not to glamorize warfare but to
instruct military thinkers and leaders in the
best way to end an armed conflict as
rapidly as possible or even better to prevent
the outbreak of war in the first place. When
Sun Tzu spoke of victory, this is what he
meant-the prevention or quick resolution of
conflict, not the conquering of your
opponent.

For Sun Tzu, the fundamental
mechanism to ending conflict is to achieve
a massive imbalance of power and
resources over your opponent, and then to
leverage that imbalance so skilfully and
decisively that your foe is utterly over-
whelmed and chooses to surrender rather
than fight.

Despite the book’s title, it is more
about wisdom than about combat.

(@ Those who win every battle are not
really skilful — those who render
other’s armies helpless without
fighting are the best of all.

(b) So the rule is not to count on
opponents not coming but to rely on
having ways of dealing with them.

(c) Anger can revert to joy, wrath can
revert to delight, but a nation
destroyed cannot be restored to
existence, and the dead cannot be
restored to life.

71. The book “Art of War” was written to
(A) Glamorize Warfare
(B) Denounce Warfare
(C) Popularize Warfare
(D) Summarize Warfare
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72.

73.

74.

75.

For conflict termination, Sun Tzu

advocated the mechanism which

concentrates on

(A) Creation of massive imbalance
of power

(B) Decisive victory

(C) Adversary’s
weaknesses

(D) Persuasive power

military

According to the book, who is a

successful military commander ?

(A) One who compels the enemy to
surrender.

(B) One who destroys the enemy.

(C) One who demoralizes the
opponent.

(D) One who makes the enemy to
withdraw.

Sun Tzu advocates that war is a

necessary evil but it should be

avoided, as far as possible because

(A) Material losses could be
compensated but human losses
are beyond compensation.

(B) National objectives could be
achieved by other means.

(C) War does not result in
permanent solution.

(D) The concepts of war and nation
building are contradictory.

The title of Sun Tzu’s book “The Art
of War” seems to be misleadving
because :

(A) It lays more emphasis on the
philosophical aspects of war
than combat principles.

(B) It concentrates more on the
wisdom of combat than on the
actual combat.

(C) It suggests the ways of conflict
resolution than on the strategies
of war.

(D) It gives more attention to the
consequences of armed conflict
than on its professional aspects.
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I T T Y @ e @ i R Tw
MR AT T T 3R ITT

T T H T I A AN forE e IF
T HigehdT IVMT &l o 3T I faament wer
JATT B TS TAAT AT {F GO HEY Bl
yienfaeiy Waray &7 9 h9 AT {Har ST
AT & 3T I8 el Secy BT 16 5 i e
H & THAH B ST | ST GA ] foorg o
A & dl Y SR MU e o7 T God @i
THATH I ST 1A T GATE H BT Ghed
e ST |

T I % foTT Guy St g & go7 T
=g 7E ¢ fF ot foRidl & WX wifed o
el FRT IR 3T A H AWherdT I
ST 3R T 3T ST T FA Fomges
T W TER THIET ST T 3Teh Uidg=51 qoraan
NPT & ST 3R 9 e H a9 B A
A | g & SiUE & TESE, TE AT
3TUETT fegme § ST Tt ¥ |
(a) ST U @erE ® foott T €, 9 arad

H $9T R §, ST 380 B fe AerE

o2 foaer X 30 €, F AT E |
(b) zafeT Faw aw & & T wiag=T =& o

@, 37 W fova 7 T A dfeh 379

fues =it fafy w & o s |

(C) Y & UvHET UG, IR F AR
GRIET die T &, T Her T I
R @ etfeae o =&l @ ST HeRaT 3R
T W Ao Tél far ST weh |

71, TE I 3 o foerd! T8
(A) TF H Highd 39 & foTT |
(B) T I Wl & feiw
(C) I& i AL T9H & T |
(D) 5 = GhT FA & o |

72.

73.

74.

75.
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(A) IfeRT ST IR STE=IA ST ST
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e feoriet & |
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UGC - NET EXAM DECEMBER 2013
KEYS - PAPER 3

Subject (11 ) DEFENCE AND STRATAGIC STUDIES

Qno Answer Qno Answer

; Zj 51 c
52 B

3 ¢ 53 C

4 A 54 c

> B 55 D

6 D 56 B

7 B 57 B

8 A 58 B

9 ¢ 59 c

10 A 60 B

11 c 61 B

12 B 62 D

13 B 63 A

14 B 64 A

15 B 65 A

16 B 66 A

17 B 67 A

18 B 68 A

13 c 69 A

20 B 70 B

21 A 71 B

22 A 72 A

23 D 73 A

24 D 74 A

25 D 75 D

26 c

27 A

28 D

29 c

30 A

31 c

32 c

33 B

34 c

35 D

36 c

37 c

38 c

39 B

40 c

a1 B

42 B

43 A

44 B

45 A

46 *

47 A

48 c

49 B

50 D

"*" DENOTES MARKS GIVEN TO ALL CANDIDATES
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